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1. Select the option that expresses the given sentence in passivé‘veice./
The vendor sold the vegetables in the market. A

A The vegetables are sold by the ve&%@
g y i ~\‘¢ -
A
B The vegetables were sold by the vendor th.

Ve,
C The vendor had sold the vegetables'in the market.

D The vegetables were being sold ythe vend9ﬂn the market.

Ne?

Answer: B =

2. From among the words f( select the INCORRECTLY spelt word in the following sentence.
Reena, who devoured foreign 6ioq \s,m and trivia, successfully diverted the conversation.

\ //

A coloquialism =
7
W]
B successfully g\

W
\ .
-

C devoured \\\\\‘::

A

D trivia /
o

Answer; A [

\ /

J

3. Complt—.}e{\ie‘s_/mea/’ﬁ/ce with an appropriate ANTONYM of the word mentioned in the bracket.
The old house was so (sturdy) that it could be shattered into pieces with a single blow.

A wry
B competent
C subdued A
D feeble

Answer: D

4. Select the most appropriate meaning of the highlighted |d|om//\

| was like a fish out of water in the new firm.

A Nosy yet firm C\
vy J

B Being uncomfortable and restless

C Always comfortable

D Very adventurous \ \
Answer: B

‘-5 \
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A cynophobia

z"_\
\-..‘
B arachnophobia M///_ /’_,:Q“-\_\
A
C xenophobia (A ,»)
O/

D xerophobia [

Wl
Answer: C /\h\

6. Select the INCORRECTLVSpeIt word.

,/’
’/

A Decep(iﬁ)n )
\

B Surreph -\US //}"
ot

C Argument

D Corporation

Answer: B A

7. Select the option that will improve the underlined part of the given;ménce.

Shanti heard the children who were shouting outside /
| e
A who were playing outdoor / /’
2
B who were thrashing in the open air //\ (/
AN
C who were flaying in the open air \‘\
D who were screaming outdoors C‘\_\\
Answer: D N

Q. )
Wy
SSC CHSL Prevoius Papers (DOWNLOAD PDF)

8. Select the most appropriate option to stltute\lxunderllne segment in the given sentence.
i

Though Mr. Swami ran in debt, he d|d op wasting mgns!7
A raninto s
/’-/.‘)
B ranto Vo4
/
f
C ran over (\ /[7
\ /4
D ran along S—
Answer: A
//:\

9. The following sentence I]*las b ’fgns\plymjo four segments. Identify the segment that contains an INCORRECTLY spelt word.

The management is not pert rped ab }Jt appointing / someone who is knowledgeable but is more inclined / towards filling the
position with a person / who mesequous and will dance to their tunes.

|f,'
A towards ﬁIIing/wsition with a person
“:\.‘\‘
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B The managementis not pérturbed about appointing
o
C who wi(l]fbe obsequous and will dance to their tunes

D someo\ne Who is km/dwledgeable but is more inclined

Answer: C <=

10. Select the option that will improve the underlined part of the given sentence.
Though many of my family members can cook well, I can cook more well than others.

A | can cook good than others
B | can cook better than others
C | can cook more good than others

D | can cook best than others

Answer: B

SSC CGL Previous Papers\(I{(?WNLOAD PDF)

11. Select the option that expresses the given sentence |n(act|ve voice. ) J
y

The problem will be solved by my friend. S
~

A My friend will be solving the problem. \:\\

(\\
B My friend was solved the problem. ™ \ \\ L .F—-—7
- \\tq C
C My friend solves the problem. \: g
\\_?
D My friend will solve the problem. >
4
Answer: D {
\ ]

12. Select the most appropriate meanin \NhJL% idiom.

e —

Hobson's choice -

A A choice forced upon syo/rﬁeoﬁg\\
/

|_‘|l If 1)
B To choose the worst opt|on|l L )}

/
| N

C To choose the best option
LU

LAY
D A choice that Qiteigdiced
S
. .
Answer: A >

A0

13. Inthe t},lfc;wing passage, some words have been deleted. Read the passage carefully and select the most appropriate option to

fill in qch blank. Wise managers opinions, get information, ask advice, act and know the art of
respolqéipilities to t)j:' subordinates.
R

A coerce, translucently, relegating

B condemn, transnationally, elevating

C entrust, transiently, accelerating ///

D solicit, transparently, delegating // —s
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Answer: D

14. Select the option that can be used as a one-word substitute for the

SSC CGL Free Mock Te attern)

A short text written on tombstone

Celibacy
Epitaph
Calligraphy

Extempore

Answer: B

15. Select the sentence which has no spelling error.

16. Select the most appropriate syn

Answer: A

The soil is necessary for plantati
Water is a necesary element for

Sharp observation is naicessary for a detective.

Patience is a nesecess . for a teacher.

m of the given word.
Pugnacious

Germane
Succule
Truculent

Sagacio

Answer: C

SSC CHSL Important Questions and Answers (Download PDF)

17. Select the INCORRECTLY spelt word.

A

Inkling O

Harrass

Jocular O

Kinetic

Answer: B

18. Select the most appropriate option to fill in the blank.

Heran the field to catch the ball
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A through A

B across Q\\\\fﬂ_ﬁ‘:j
e

C Dbesides =
‘\\:"‘:,‘>
D over o
(y
Answer: B {
, ]

\
19. Select the most appropriate ANTON f the )\A;%:I given in bold in the following sentence.
He does well, though he’s sometimes contemptuous.

A strong //_7;,\\ .
] /f )w
B humble )
C civilised (? .
WA

D wealthy ‘\_\k
Answer: B K}Q;

V4

(5 SSC CHSL Study Material

20. Senten \"soi gpa/gﬁi‘aph are given below in jumbled order. Arrange the sentences in the correct order to form a meaningful
and cohere I"a/graph.
A. Food blogs are often authored by food aficionados, sometimes known as ‘foodies’.
B. The blogger can benefit from it if he or she uses it professionally.
C. Food blogging is food journalism that combines an interest in food, blog writing, and food photography.

D. The greater the popularity of a food blogger, the more options for him/her.to monetise his/her work.
P

A ACBD &

B CABD

C BDCA / =
D DABC Z, 7 R i(
\

Answer: B N 3

-.,

Instructions [21 - 25]

In the following passage, some words have been deleted. Fill in the blanks je help of the options given. Select the most
appropriate option for each blank.

There are (1) ways to empower women. Individual people m istration must work (2) to make this a (3)
Girl's education must be made mandatory so that they do not becomeZZ , uneducated, and unable to support themselves.
Women must be (5) equal rights and opportunitie(s\in all fields, regardless of their gender.

21. Select the most appropriate option to@%\v mber 1.

A counted X \‘5
B selected “;/>
(
C chosen '-\ []
\\Mi_//
D several N

Answer: D
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\
22. Select the most appropri r/)i/on fillin blank number 2.

O "y

A cooperatively

(1

B singlehandedly.\\
\\
C W

forcefully W
/

D anonymou’sly

U/
SSC CHSL Free App

23. Select the most appropriate option to fill in blank number 3.

Answer

A reality

B dream / =

C truth Q
_\_/'/

D fiction

24. Select the most appropriate option to fill in blank number 4.

A experienced N \

B indifferent <\

g
Answer: A /\«\ Q
Q.

C arrogant

D ignorant \\/7

Answer: D
25. Select the most appropriate option to fill in blank \mbgly
'/
A satisfied with (
\
B accepted J
C taken
A
D accorded //_\,:;\\\\
Answer: D Lf // \
L\
(7 : :
% Daily Free SSC Practice Set
V General Intell
¥V eneral Intelligence

26. 1f 30 ngyfzm 5 was Thursday, then what was the day of the week on 03 September 2016?

]
A Friday |\ /f;"
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Sunday

B

C Saturday
D Thursday
Answer: C

Free SSC Study Material (18,000 Solved Questions)

27. Study the given pattern carefully and select the number that can replace the quéstion mark (?) init.
First row: 162, 91, 71
Second row:218, 126, 92
Third row:194, 79, ?
(NOTE: Operations should be performed on the whole numbers, without breaking down the number into its constituent digits.
For example, 13 - Operations on 13 such as adding/deleting/multiplying etc. to 13 can be performed. Breaking down 13 into 1
and 3 and then performing mathematical operations on 1 and 3'is.not allowed.)

A 125

B 109

C 115

D 122
Answer: C

28. A paper is folded and cut as shown. How will it appear when unfolded?

o)< ]
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(o]
VAVA| |AV VAL VA AV
AV AV| |AVVA| AV VA

VA AV
D
AV VA
Answer: A
1500+ Very Important Free SSC Solved Questions
30. If M denotes ‘', N denotes ‘', O denotes ‘X’ and P denotes ‘+’, then what will come.in-place of ‘?’ in the following equation?
(72N9)04M26 P97 M (36 N2) =2
A 80
B 90
C 85
D 75
Answer: C

31. Which of the following numbers will replace the question mark-(?) in.the given series?
14,18, 54, 58,174,178, ?

A 534
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B 634
C 712

D 522

Answer: A

32. Which of the following numbers will replace the question mark (?) in the given series?
558, 570, 555, ?, 552, 576

A 574
B 572
C 573

D 571

Answer: C

SSC.Exam Update Videos & Free Study Material (YouTube Channel)

33. If 15 August 1947 was Friday, then what was the day of the week on 26 January 1950?

A Friday
B Saturday
C Sunday

D Thursday

Answer: D

34. A paper is folded and cut as shown below. How will it appear when unfolded?

armsasmsanam

: N
O AaA O
¢ ¢
N
vV

O O

O O

¢ vv ¢
e 2 o

O O
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¢V Ve
A NG

] [
H [
¢ An ¢
¢ A0 ¢
[ ||
Answer: B

35. Select the set in which the numbers are related in the same way/as are the’/numbers of the following set.
(11, 8,33)
(33,5,924)
(NOTE : Operations should be performed on the whole numbers, without breaking/down the numbers into its constituent digits.
E.g. 13 - Operations on 13 such as adding /deleting /multiplying etc: to'13 ean be performed. Breaking down 13 into 1 and 3
and then performing mathematical operations on 1 and 3 is NOT allowed)

A (26, 22, 188)
(24, 15, 216)
(22,17, 156)

D (21,17,87)

Answer: B

Latest Job Updates on Telegram - Join here

36. Two different positions of the same dice are shown, the six faces of which are coloured Red, Green, Blue, Yellow, Black, White.
Select the colour that will be on the'face opposite'to the one coloured Black.

A Blue

B White

C Green

D Red
Answer: D
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37. Select the correct combination of mathematical signs to replace the * signs /g to balance the given equation.

46*16*4*21*72*4*57
A = X,+,+,+-
B —+-=-x,—+
C —+,%X,=-+
D +,=—-,%X,—,+
Answer: A

38. Study the given pattern carefully and select the number that can replabq§he question mark (?) in it.

First row: 8, 13, 25 &

Second row: 12, 7, 25 Y )
N/

Third row: 9, 15, ? N

(NOTE: Operations should be performed on the whole numbers, WIthout breaking down the number into its constituent digits.
For example, 13 - Operations on 13 such as addmg/deletmg/multlplylng etc. to 13 can be performed. Breaking down 13 into 1
and 3 and then performing mathemat(:?LgP\eratlﬂﬂf on :I _ra_rlg:/_:j is not allowed.)

= s

\‘*-\-\\q (‘-—
A 49 \,,\\\
—
B 30 &
/
C 36 K f
\ _,
D 16 == 4
Answer: C

ﬁ” 7 f\_ .
d LJod'u) SSC Daily Quiz Telegram Group

39. Which letter-cluster will replace- the questlon mark (?) to complete the given series?

TCID, YJRO, ?, IXJK, NESV
Wl
XN
‘-\\: o
A ZKEW Y
¥
B QuDS 4
((
C ANRH \[\ /J".-‘
(A, /
,f
D DQAZ \
Answer: D

40. Three Statements are given followed by Three conclusions numbered I, Il and Il1.
Assuming the statements to be true, even if they seem to be at variance W|th/"" mmonly known facts, decide which of the
conclusions logically follow(s) from the statements.

Statements:

All stones are bricks.

No cement is a brick.
Some marbles are stones.

Conclusions:

I. Some bricks are marbles.
Il. Some cements are stones.
11l. No marble is a brick.
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A Both conclusions | and Il follow.

B Both conclusions | and Il follow.

C Only conclusion Il follows. /
D Only conclusion | follows. \
Answer: D

41. In a certain code language, 'FAMOUS' is.coded as '19 21 15 13 1 6', and 'GARDEN' is coded as '14 5 4 18 1 7'. How will 'LEADER'
be coded in that language?

A 16451215
B 18451612

C 17541814 J

D 18541512

Answer: D

42. Which letter clus
PUCH, QTDG, RSEF, S

Vs

ill replace the question mark(?) to complete the given series?

C TQGC
D GTCA
Answer: A

43. Select the correct combination of mathematical signs to replace the * signs and to balance the given equation.
3*4*2*%10*17*2

C +, +, + =-
D x,+,=--

Answer: B

44. In a certain code language, 'SCREEN' is written as ‘14e d ‘SHOTis written as ‘2008s’. How will 'CODE' be written in that

language?
F

A 5el5c \
B 5d19c
C 5d15c

D 54156 f
.
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Answer: C

SSC CHSL Free Mock Test

45. Select the correct mirror/image of the given combination when the mirror is placed at 'PQ' as shown.
P
rj73dk
Q
a ADET 1
s AbET|1
c AGET]
o AdET{jux

Answer: B

46. In a certain code language, “CAUTIOUS" is written as “CUAITUOS”, and “DEADLINE" is written as “DAELDNIE". How will
“ECONOMIC” be written in that language?

A EOCOINMC
B EOOCNIMC
C ECOONIMC

D EOCONIMC

Answer: D

47. How many triangles are there in the given figure?

A 11
B 8
Cc 10
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48. Select the option that is related to the fifth term in the same way as the second term is related to the first term and the fourth
term is related to the third term.

REASON : ROSAEN :: SOCIAL : SAICOL :: TRAVEL : ?
A TEVARL
—
B TEVRAL Q
//
C TERLAR o
D TEVALR Q
\\5

Answer: A
49. Select the option that is related to the fifth term in the sam@ﬁyﬁthe second term is related to the first term and fourth term

related to third term. \
27:196::19:100::17:? ~
\\j

A 57

L L
- -

50. Which of the following numbers will replace the question mark (?) in the given number series?
7350, 7345, 7345, ?, 7360, 7375

A 7360
'

B 7335 J (\

C 7340 \_/

D 7350 f\/>

Answer: D %
W

(f(j? SSC CGL Previous Papers (DOWNLOAD PDF)

/
\ﬁﬂ%f Quantitative Aptitude
51. What is the

est natural number that should be added to 54321 so that the sum is divisible by 6?

= v N\
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Answer: B 7 e

/ /_’
A |
SSC CGL Free Mock 'IgsNI}a attern)

52. Rice worth 96 per kg and 104 per kg are mixed with a third variety in t})\ratio 1:1: 2. If the mixture is worth X113 per kg,
the price of the third variety of rice per kg will be: :\\

A 109 4\ )

B 3128 =7
4\
0
S
D <117 Qx\\\—;ﬁ
Answer: C \\

= 2O,

C X126

/‘
53. How many spherical balls of radius Z gm can be made by melting a spherical clay ball having a radius of 15 cm?
|
a f]
A 3 \‘\///
NS
B 27
oS
c 9 | % Ry
g § W
D 18 [( ) )
L\\v’f/
Answer: B =
[
[

54. Find the comp ' 'd\interest on X5,50,000 at 7% per annum for 2 years, compounded annually.
A %79, 695 &
B <80, 60/%
C 62,698 /)

\\v//f’

D 79,690

Answer: A

SSC CHSL Important Questions and swers (Download PDF)
55. A and B together can finish a job in 40 days. A can do the same jop/on her own W;(Eik) How long will B take to do the three-

fourth of the same work all alone?
A 120 days / X
/ //'
//\ (
B 80 days { \\\\

N
C 90 days \)\
D 100 days O

Answer: C : B

Downloaded from cracku.in


https://cracku.in/ssc-cgl-online-mock-tests
https://cracku.in/blog/ssc-chsl-important-questions-and-answers-pdf/
https://cracku.in

56. The average monthly expenditure of a family for the first four months is ¥13,750, for the next three months is 11,750 and for
the last five months is X31,750. If the family saves 15,550 during the whole year, find the average monthly income of the

family during the year. (Consider inte ral‘pa[t only)
\\\.,_\_\‘. r—"'_-_-__-‘
\\\\:.) ‘n\\
A 321,055 D
>
B 322,045 ,';/'
{ I[?
C 22,000 \ /
4
D 323,040 ~—
Answer: B ,~—H

f“‘-,
57. Successive discounts df ’1 0% pd 2095 \ape given on the purchase of a purse . If the price of the purse is 2,250, find the selling

price.
/
Q -
A <X1,620 (?
4’:\':"’"\
B 31,320 g
‘-h"n H\"‘-_
Y
C %1290 .
D <1 52?' [ B
.llfl-l
Answer\é - r_.{/

SSC CHSL Study Material

58. The base of a parallelogram is twice as long as its corrosponding height. If t/l}_e area of the parallelogram is 144 cm?, find the
mentioned height. ye

A 6vV2cm A / /;_"Ti'_fz\

B 3v2cm / Y \ \_,) />
2v2 cm 7

//
P | < )
s g ~ \-
D 8vV2cm \___‘\‘\-‘; 3"‘_‘_.‘_' 4
Answer: A \
¥
[V
59. A householder spent his monthly salary of X7,200 on different |tems . If-he spent ¥4,000 on food and 400 on education, then
the central angles respectively are: & ))
, , =
A $%$307{\circ},60"{\circ}
J"\\
B 50°,200° & \
[ J—
H“":\\‘\ \\. :-' p— d/
C 200°,20° ~ \
~
5:)

D 200°,60°

Answer: C

60. A shopkeeper mixes three types of(\ce\costlng ;0 per kg, 60 per kg and X75 per kg in the ratio of 3 : 1 : 2. The average cost
of the mixture per kg is:
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‘F" ’_-"/ V ; "‘\\:. .
A 350 g f W
N |! i’l -'I :I
B 75 | N
C 360 {(
{.-"‘x_:'}\ ..."—\.
D 365 \\\Q‘;-\
Answer: C 9
((
W\ V.| SSC CHSL Free App

\ g y
r

61. Study the given-bar-chart and answer the question that follows. The bar chart shows the production and sale of cars (in
thousands) over the years 2011 to 2015

16

14

13
12
10 9
]
8
6 6

(V] &

4

2

0

2011 2012 2013 2014 2015

The percentage by which sales exceeds production in \204.\515;\_ 4

R

[ Sales ) >
e
Production

. L)

A 35 (\
s \ \
{ ~ ' | N
B 25 . \\—r—7
\\\\‘\ \\ r-/,_,--— o
~ \
C 20 O
~ 7
~
o
D 30 &
r ,/
I f
Answer: D [ M

J
/-

N V4
62. One of the angles of a triangle is 108‘\,.\g“r‘1d-the"‘_i)1ﬁer two angles are equal. What is the measure of each of these equal angles?

p—

A 360 ‘/.//_ \:\\\
I‘F" T // ;.r"‘:_. J \\‘_ "\\?
B 72° u / | ‘I‘I \I‘\-'
L V.,
c 78 N ) =4
( ,"IJ
D 39° &\
\\\\ -
Answer: A &
) v
63. What isthe value of 12 — 8 + 2 — {160f — 2 + 3 x 5 — 4}?
’f‘ v"J
|l i
A O \'\, l“\ ,r"ll.l.."'
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C 45

D 29

Answer: D

Daily Free SSC Pr

64. A sum of 5,000 was deposited for 3 years at 10% per annum, comp
The difference between the interest for 2 years and that for 3 years is:

A X506
B X605
C X560

D 3650

Answer: B

tion ‘A’ at 3 p.m. and travels towards station ‘B’ at 83 km/h.
ards station ‘A’ at 54 km/h. At what time do they meet?

65. ‘A’ and ‘B’ are two stations 494 km a >
Another train starts from station ‘B’ at 4 p.

A 7pm.
B 9am.
C 7am.
D 8p.m

Answer: A /\

66. One single discount which is

A 32.60% |
B 31.60%

t to 20%, 10% and 5% is given by:

C 30.60%
D 32.809
Answer:

Free SSC Study Material (18,000 Solved Questions)

67. Simplify the fo llowing expression.
(62x62x62)—3(62x62x22)+3(62x22x22)—(22x22x22)
8x8x8

A 1250

()
(oY
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o
p 225 B
Answer: C
68. P sold an item to Q at a 20% gain, and Q sold it to R at a loss of 10%:.If R bought the item for 1,080, then at what price did P
purchase it?
A 1000
B 5000
C 3000
D X800
Answer: A
69. If cot 8 = cot 30° cot 60°° and 6 is'an acute angle, then 26 is equal to:

A 45°

B 60°
c 30°
D 90°

Answer: D

1500+ Very Important Free SSC Solved Questions

1
70. For what value(s) of kjwill the expression p + 9 VP + k2

A k= 4o
B k—+is
C k=9
D k=43
Answer: B
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71. The following bar graph shows the sales (in thousaﬁdstof books from six different branches of a publishing company in 2000

and 2001. /‘)

y.

SALES OF BOOKS BY 6 PUBLISHERS IN 200 AND 2001

120 110 15 410 s
100
95 95 95
100 90 20 85
30
60
40
20
0
c1 2 3 c4 cs C6

= 2000 = 2001

Answéli"the foIIowingﬁguestion based on the bar graph:
What k's\,_the ratio of ﬂ},é total sales of C3 for both years to the total sales of C4 for both years?

Nt

B 15:14

C 13:14 7
/‘/
D 12:13 /
Answer: A // " /ﬂ
)
72. In a panchayat election Candidate A secured 30% of the total votes/and did NOT, ify by 6 votes. Candidate B secured 40% of

the total votes and got 6 votes more than the bare minimum to/qualify. Th/?ﬁfql umber of votes were
N

A 14:

I/ /
P |
A 100 A S N
B 160 (\ \j
N
C 140 \B
D 120 Q§ )

Answer: D '\#/

(\
SSC Exam Update \%@gsé\ljmis'fudy Material (YouTube Channel)

73. If x+ 2y = 10 and 2xy = 9, then one of the value of -\2y\i7$:

A 10
B 12
C 6
D 8 —
A i
Answer: D g 4 W
[ ]
() ]
N /’
74. What is the surface areaof a s \ejWhose diameter is 30 cm? [Use 7 = 3.14.]

£
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A 1413 D
[
B 1130 &
c 2826 [/
[
D 1134 \\ 4
\\ "‘x.\__‘_ ,../J_f_."!
Answer: C

75. What is the mean proportional between 64 and 4096?

D

8 ) /‘/'
//l/
512 // _
y | )
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76. According to Mendeleev's periodic table, which unknoWnéie[nent of bup Il had an atomic mass of 68 that was later replaced

z
‘/

by gallium? ~&=

A Eka-aluminium & \\
\\'::\\\ I'\\\’\____,—-‘:'::?
B Eka-manganese &
S
—_— '\_“_
C Eka-boron ~7
>
D Eka-silicon ,":,/-
Answer: A ' ,‘,,7
\ \\ J,.f//
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77. The body of animals of fhe phyluri’rProtozoa such as Paramecium, Amoeba, Euglena, shows grade organisation.
Q)
A protoplasmic ‘-.l_‘*_::»-’
i
B cellular '-.\
&N\
\\“\_(\ e
C cell-tissue e
¥

D tissue- orgién

d
Answerl. {A j,_ﬁ_
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78. Which bithe_f_ollowlng is a correct pair?

A LK Advani - Matters of Discretion
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B Khushwant Singh — Living Shadows
C Vijay Kumar Singh - Courage and Conviction

D K Natwar Singh - Straight from the Heart

Answer: C

79. Which Article of the Indian Constitution deals with the election o

A Article 68
B Article 62
C Article 66
D Article 64

Answer: C

80. Who among the following is the author of the Mrignayani”?

A Chatursen Shashtri
B Rangeya Raghav
C Sumitranandan Pant

D Vrindavan Lal Verma

Answer: D

81. Who among the following does belong to Rampur Sahaswan Gharana?

A Ustad Inayat Kh
B Ustad Fateh Ali Kh

C Ghulam stafa Khan

D Ustad Rashid Khan

Answer:

82. Which of the following minerals is NOT found in rivers (alluvial placers) and on the coast, especially beaches (beach placers)?

A Bauxite

B Gold

C Tin
D Platinum O
Answer: A :
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83. Which of the following is an objective of the Government Budget? b
(A) GDP growth
(B) Reallocation of resources \

(C) Balanced regional growth

A AandB Q\\
B AandC R
C A BandC ﬂ

—

D OnlyA

. \
Answer: U

84. Why does the effective nuclear charge experienced by valence electrons decrease down the group?

A The outermost electroéar% eraway from the nucleus
B The innermost electrons aré\tﬁa\r_tge away from the nucleus

C The elements an@;inert
A

N \
D The outermosWre closest to the nucleus
Answer: A s

4 /
85. Whlcfm‘f the following personalities have NOT been nominated for a Grammy Award?

i
A AR Raw

B Lata Mangeshkar
C Pt Vishwa Mohan Bhatt

D TH Vinayakram

Answer: B

SSC CHSL Prevoius Paper

86. Which of the following Tiger Reserves/ National Parks and states situat

PDF)

A Bandhavgarh National Park - Madhya Pradesh
B Manas Tiger Reserve - Assam \
C Corbett National Park - Uttarakhand

D Sundarbans National Park - Odisha

Answer: D
87. Who among the followings was an Indﬁ er &wenre of Hindustani classical music from Karnataka?

A Pandit Ravi Shankar

/ 4
(
\

B Begum Akhtar (

/)
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¢ Gangubai Hangal X j//

D Durga Jasraj

Answer: C o —""
/ e
. r.r/ A

1 r'; N\ -.,“.7
88. Which of the following 'cbuntlz{?'s nevd}r) organised Olympic games?

‘-\ A

N

A South Africa -'/.\f

. < B
B Australia O
T __\:\\.‘I
C Japan \"
D China |/["‘
R
. fif
Answer.-\.A_\ A4/
= i
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89. Pradhan Mantri Garib Kalyan Package (PMGKP) Insurance Scheme was extenged by the Central government in June 2021. This
provides that the families of health workers would get lakh comperpét'on in case of personal accidents.

A 45

B 350

Cc 330

D 325 "j/ R
Answer: B

Fom,
.

&
90. Which of the following equipment is used in throwing events\?"--«_\_ff_\.,___

§ ﬁ 7
A Shot . )
B Ironring

C Indian club

D Iron rod N
~ i
SO
Answer: A D
D -
91. Who among the following is the aut,n‘iyi: of ‘A Movable Feast?
"‘ ) 4 I/f
A Ernest Hemingway \\_//

B George Orwell
/ - .,
C Roald Dahl £ ) A

D William Faulkner (| |

Answer: A o =

m\
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92. In October 2021, ‘Operation Sajag’, a measure to reduce crime in society, was launched in which state/Union Territory?

C Uttar Pradesh

D Bihar ) //
Answer: B //-
/ ,:"":\L
93. Ramali Bin Ibrahim, a Malaysian choreographer of Bharatanatyaryi Odis |da’ e forr 7of India, received the Padma Shri in
which of the following years? / \\‘\ j
[f / 7 / -.;_—://
/ vV /ﬁ
A 2020 | L7 N
[ A ( )
& .\ / /
B 2008 \,\\\ :,/
\P)
C 2018 @
D 2014 N
~ ""‘\.7
Answer: C 4:\\ )
\\::\-\__////

VA
A Albert von Kolliker {:\ ||
~ \ e
g \:\ R--
B Walther Flemming \\\“\»\\
7
C Garth L Nicolson e
/7
Ly
D Edwin Gorter ([ | M
W\ )
Answer: B \\\‘ yy,
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95. In May 2021, the Mlnlsf.r,y of '?(ribal Affaifs (MTA) signed an MOU with which organisation to support the digital transformation

of tribal schools? (A .
\ -\_///

&
A Microsoft W

B WIPRO o

,/".
C Infosys ) 4
r‘

D Tata C]ohsultancy Serwces (TCS)

/)
.
Answer. {\\_/://x
\.

——

96. In 1674, who used a single-lens microscope to examine pond water and observed dozens of protists, which he called
‘animalcules’, as well as spirogyra, or green algae?

A Rudolph Virchow Y

B Robert Brown / -
/// / ,//’ ‘/z\

I55)
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c Anton Van Leeuwenhoek

D Robert Hooke

Answer: C

97. L Bino Devi, Sangeet Natak Akademi Award winner had received the award

forms?
A Manipuri Q
B Sattriya
C Odissi
D Kuchipudi
Answer: A

r his contribution to which of the following dances

SSC CHSL Study Material

98. Which of the following vocalists of utta was the first artist of the sub-

in November 1902?

continent to record on the gramophone commercially

A Suchitra Mitra J/\
B Gauhar Jaan
C Lata Mangeshkar
D Sandhya Muk l' dhyay
Answer: B
99. In197 tya Tarangini, was founded in the National Capital Region, by world renowned Kuchipudi Dance duo
A
B Seetha Nagajothy and P Nagajothy
C Jayarama Rao and Vanashri Rao
D Pasumarthy Vithal and Bharati
Answer: A

100. Yamini Krishnamurthy was honoured with the in 1977

A Padma Shri
B Kabir Samman
C Kalidas Samman

D Sangeet Natak Akademi Award

Answer: D
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